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QUESTION 1

Consider the following program code:

$i = 15;
LOOP: for(; $i
{

if ($i % 2)

{

next LOOP;

}

print($i );

}

What is the result of executing this program code?

A. The code will output the following: 152 4 6 8 10 12 14 16 18 20 22 24
B. The code will output the following: 15 17 19 21 23 25

C. The code will fail at line 2 because $i is not initialized.

D. The code will output the following: 16 18 20 22 24

Correct Answer: D

QUESTION 2

Consider the following statement:

@arrayl = (9, "A", 0..9, "PERL");

Given this statement, @arrayl consists of how many elements?
B. 4

C.12

D. 16

Correct Answer: A

QUESTION 3
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Consider the following lines of code:

@arrayl = ("apples", "oranges", "pears", "plums"); foreach (@arrayl) {print "$_\n"};
What is the result of these lines of code?

A. apples oranges pears plums

B. apples oranges pears plums

C. apples

D. apples oranges pears plums

Correct Answer: D

QUESTION 4

Which statement is the most accurate?

A. The unshift function removes elements from the beginning of an array.
B. The unshift function adds elements to the end of an array.

C. The shift function adds elements to the end of an array.

D. The shift function removes elements from the beginning of an array.

Correct Answer: D

QUESTION 5

Consider the following program code:
$x = 10;

LOOP: while ($x

{

print ($x );

if ($x >= 14 andand $x
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